



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 5th Semester, Section A, Morning, Session Autumn 2025

		CSC311-7					CSC404					CSC-501					CSC-503					CSS301					GE161						
		Computer Architecture					Visual Programming					Computer Communication & Networks					Artificial Intelligence					Multi-Variate Calculus					Application of Information & Communication Technologies						
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product		
2312166/BCS/M-A/SP-24	Muhammad Abdul Rehman Babar (-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS Aut-2022-M-A-0014	Inziam Asghar	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
B.S CS Aut-2023-E-A-0228	Mansoor Khan	62	C	2.0	3	6.0	75	B+	3.5	3	10.5	71	B	3.0	3	9.0	-	-	-	-	62	C	2.0	3	6.0	-	-	-	-	-	-	-	-
B.S CS Aut-2023-E-A-0238	Savaira Zaheen	80	A	4.0	3	12.0	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	87	A	4.0	3	12.0	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-E-C-0308	Maryam Malik	77	B+	3.5	3	10.5	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	89	A	4.0	3	12.0	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-E-C-0316	Muhammad Usman Sami (Migration)	83	A	4.0	3	12.0	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	98	A	4.0	3	12.0	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-E-C-0330	Moiz Ahmed Malik	76	B+	3.5	3	10.5	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	98	A	4.0	3	12.0	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0002	Abdullah Daniyal	82	A	4.0	3	12.0	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	88	A	4.0	3	12.0	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0003	Ali Raza Azmat	76	B+	3.5	3	10.5	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	95	A	4.0	3	12.0	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0004	Alishba Tajamal	80	A	4.0	3	12.0	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	63	C	2.0	3	6.0	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0005	Almas Habib	83	A	4.0	3	12.0	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0006	Ameena Amin	87	A	4.0	3	12.0	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	99	A	4.0	3	12.0	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0007	Areesha Shaheen	85	A	4.0	3	12.0	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	94	A	4.0	3	12.0	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0008	Asad Munir	83	A	4.0	3	12.0	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	98	A	4.0	3	12.0	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0010	Ayesha Iqbal	87	A	4.0	3	12.0	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	68	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0012	Dilawaiz Arshad	76	B+	3.5	3	10.5	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0014	Ghania Iftikhar	88	A	4.0	3	12.0	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	95	A	4.0	3	12.0	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0015	Hafza Sheraz	77	B+	3.5	3	10.5	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0016	Hibba Chaudhary	80	A	4.0	3	12.0	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	94	A	4.0	3	12.0	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0017	Imama Waseem	82	A	4.0	3	12.0	-	-	-	-	60	C	2.0	3	6.0	-	-	-	-	43	F	-	3	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0018	Imran	80	A	4.0	3	12.0	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0019	Jawaria Jamil	70	B	3.0	3	9.0	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0020	Maaz Farooq	82	A	4.0	3	12.0	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	90	A	4.0	3	12.0	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0022	Mifrah Rafiq	84	A	4.0	3	12.0	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	98	A	4.0	3	12.0	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0026	Muhammad Asif	80	A	4.0	3	12.0	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	93	A	4.0	3	12.0	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0033	Muhammad Junaid	83	A	4.0	3	12.0	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	93	A	4.0	3	12.0	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0034	Muhammad Mugheera Khan	80	A	4.0	3	12.0	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	90	A	4.0	3	12.0	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0036	Muhammad Rasheed Safdar	65	C+	2.5	3	7.5	-	-	-	-	47	F	-	3	-	-	-	-	-	43	F	-	3	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0037	Muhammad Rizwan	82	A	4.0	3	12.0	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	93	A	4.0	3	12.0	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 5th Semester, Section A, Morning, Session Autumn 2025

		GE162					HUM201				
		Functional English					Technical & Business Writing				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
2312166/BCS/M-A/SP-24	Muhammad Abdul Rehman Babar (-	-	-	-	-	-	-	-	-	
B.S CS Aut-2022-M-A-0014	Inziam Asghar	-	-	-	-	70	B	3.0	3	9.0	
B.S CS Aut-2023-E-A-0228	Mansoor Khan	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-E-A-0238	Savaira Zaheen	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-E-C-0308	Maryam Malik	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-E-C-0316	Muhammad Usman Sami (Migration	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-E-C-0330	Moiz Ahmed Malik	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0002	Abdullah Daniyal	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0003	Ali Raza Azmat	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0004	Alishba Tajamal	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0005	Almas Habib	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0006	Ameena Amin	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0007	Areesha Shaheen	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0008	Asad Munir	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0010	Ayesha Iqbal	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0012	Dilawaiz Arshad	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0014	Ghania Iftikhar	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0015	Hafza Sheraz	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0016	Hibba Chaudhary	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0017	Imama Waseem	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0018	Imran	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0019	Jawaria Jamil	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0020	Maaz Farooq	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0022	Mifrah Rafiq	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0026	Muhammad Asif	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0033	Muhammad Junaid	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0034	Muhammad Mugheera Khan	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0036	Muhammad Rasheed Safdar	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0037	Muhammad Rizwan	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 5th Semester, Section A, Morning, Session Autumn 2025

Registration #	Name	CS111					CSC 210-7					CSC 311-5					CSC 402					CSC.305					CSC204				
		Programming Fundamentals (C)					Linear Algebra					Web Programming					Information Security					Introduction to Software Engineering					Theory of Automata & Formal Languages				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2023-M-A-0038	Muhammad Saleh	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	72	B	3.0	3	9.0	-	-	-	-		
B.S CS Aut-2023-M-A-0041	Muhammad Waqas Haider	-	-	-	-	51	D	1.5	3	4.5	59	C	2.0	3	6.0	67	C+	2.5	3	7.5	60	C	2.0	3	6.0	-	-	-	-		
B.S CS Aut-2023-M-A-0044	Naseem Ahmed	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	65	C+	2.5	3	7.5	84	A	4.0	3	12.0	-	-	-	-		
B.S CS Aut-2023-M-A-0046	Saba Attique	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5	-	-	-	-		
B.S CS Aut-2023-M-A-0047	Sadeel Muzaffar	-	-	-	-	-	-	-	-	-	87	A	4.0	3	12.0	85	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	-	-	-		
B.S CS Aut-2023-M-A-0048	Saliha Arbab (Withheld due to Fee)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
B.S CS Aut-2023-M-A-0049	Salman Ahmad	-	-	-	-	-	-	-	-	-	96	A	4.0	3	12.0	82	A	4.0	3	12.0	86	A	4.0	3	12.0	-	-	-	-		
B.S CS Aut-2023-M-A-0050	Shafiq Ur Rehman	-	-	-	-	-	-	-	-	-	77	B+	3.5	3	10.5	70	B	3.0	3	9.0	70	B	3.0	3	9.0	-	-	-	-		
B.S CS Aut-2023-M-A-0055	Sheikh Abdul Basit	-	-	-	-	-	-	-	-	-	85	A	4.0	3	12.0	84	A	4.0	3	12.0	94	A	4.0	3	12.0	-	-	-	-		
B.S CS Aut-2023-M-A-0060	Syed Hamza Waqar	-	-	-	-	-	-	-	-	-	77	B+	3.5	3	10.5	57	C	2.0	3	6.0	-	F	-	3	-	-	-	-	-		
B.S CS Aut-2023-M-A-0061	Syed Samad Ali Shah	-	-	-	-	-	-	-	-	-	82	A	4.0	3	12.0	75	B+	3.5	3	10.5	80	A	4.0	3	12.0	-	-	-	-		
B.S CS Aut-2023-M-A-0062	Talal Abbas Qureshi	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	75	B+	3.5	3	10.5	85	A	4.0	3	12.0	-	-	-	-		
B.S CS Aut-2023-M-A-0064	Nilofar Zenum	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	76	B+	3.5	3	10.5	75	B+	3.5	3	10.5	-	-	-	-		
B.S CS Aut-2023-M-A-0065	Muhammad Faisal Gulzar	-	-	-	-	-	-	-	-	-	95	A	4.0	3	12.0	78	B+	3.5	3	10.5	84	A	4.0	3	12.0	-	-	-	-		
B.S CS Aut-2023-M-B-0110	Muhammad Zain Ul Abideen	-	-	-	-	-	-	-	-	-	84	A	4.0	3	12.0	81	A	4.0	3	12.0	86	A	4.0	3	12.0	-	-	-	-		
B.S CS Aut-2023-M-C-0148	Asad Khan	-	-	-	-	-	-	-	-	-	82	A	4.0	3	12.0	71	B	3.0	3	9.0	75	B+	3.5	3	10.5	-	-	-	-		
B.S CS Aut-2023-M-C-0152	Faizan Ali	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	81	A	4.0	3	12.0	-	-	-	-		
B.S CS Aut-2023-M-C-0187	Sohail Ahmed Khan	-	-	-	-	-	-	-	-	-	94	A	4.0	3	12.0	81	A	4.0	3	12.0	92	A	4.0	3	12.0	-	-	-	-		
B.S CS Aut-21-M-A-0035	Roheen Anjum	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5	71	B	3.0	3	9.0	60	C	2.0	3	6.0	-	-	-	-		
B.S CS SP-2022-M-A-0054	Zain Habib	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-			
B.S CS SP-2023-M-A-0004	Ali Raza	-	-	-	-	-	-	-	-	-	82	A	4.0	3	12.0	80	A	4.0	3	12.0	84	A	4.0	3	12.0	-	-	-	-		
B.S CS SP-2023-M-A-0033	Muhammad Sharjeel Iqbal (Duplica	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	-	-	-	-		
B.S CS SP-2023-M-A-0037	Muhammad Hamza Shakir	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	66	C+	2.5	3	7.5	50	D	1.5	3	4.5	-	-	-	-		
B.S CS SP-2023-M-B-0086	Muhammad Awais	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	51	D	1.5	3	4.5	56	C	2.0	3	6.0	50	D	1.5	3	4.5	
B.S SE Aut-2023-M-C-0129	Aiman Rasheed	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0	71	B	3.0	3	9.0	75	B+	3.5	3	10.5	-	-	-	-		
BS CS SP-21-M-A-0036	Taimoor Hassan	-	-	-	-	-	-	-	-	-	58	C	2.0	3	6.0	65	C+	2.5	3	7.5	50	D	1.5	3	4.5	-	-	-	-		

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 5th Semester, Section A, Morning, Session Autumn 2025

		CSC311-7					CSC404					CSC-501					CSC-503					CSS301					GE161				
		Computer Architecture					Visual Programming					Computer Communication & Networks					Artificial Intelligence					Multi-Variate Calculus					Application of Information & Communication Technologies				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2023-M-A-0038	Muhammad Saleh	80	A	4.0	3	12.0	74	B	3.0	3	9.0	71	B	3.0	3	9.0	-	-	-	-	93	A	4.0	3	12.0	-	-	-	-		
B.S CS Aut-2023-M-A-0041	Muhammad Waqas Haider	76	B+	3.5	3	10.5	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	61	C	2.0	3	6.0	-	-	-	-			
B.S CS Aut-2023-M-A-0044	Naseem Ahmed	80	A	4.0	3	12.0	-	-	-	-	61	C	2.0	3	6.0	-	-	-	-	56	C	2.0	3	6.0	-	-	-	-			
B.S CS Aut-2023-M-A-0046	Saba Attique	75	B+	3.5	3	10.5	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-			
B.S CS Aut-2023-M-A-0047	Sadeel Muzaffar	89	A	4.0	3	12.0	-	-	-	-	77	B+	3.5	3	10.5	-	-	-	-	98	A	4.0	3	12.0	-	-	-	-			
B.S CS Aut-2023-M-A-0048	Saliha Arbab (Withheld due to Fee)	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
B.S CS Aut-2023-M-A-0049	Salman Ahmad	84	A	4.0	3	12.0	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	95	A	4.0	3	12.0	-	-	-	-			
B.S CS Aut-2023-M-A-0050	Shafiq Ur Rehman	76	B+	3.5	3	10.5	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	62	C	2.0	3	6.0	-	-	-	-			
B.S CS Aut-2023-M-A-0055	Sheikh Abdul Basit	83	A	4.0	3	12.0	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	89	A	4.0	3	12.0	-	-	-	-			
B.S CS Aut-2023-M-A-0060	Syed Hamza Waqar	81	A	4.0	3	12.0	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	95	A	4.0	3	12.0	-	-	-	-			
B.S CS Aut-2023-M-A-0061	Syed Samad Ali Shah	80	A	4.0	3	12.0	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-	93	A	4.0	3	12.0	-	-	-	-			
B.S CS Aut-2023-M-A-0062	Talal Abbas Qureshi	75	B+	3.5	3	10.5	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-			
B.S CS Aut-2023-M-A-0064	Nilofar Zenum	80	A	4.0	3	12.0	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	93	A	4.0	3	12.0	-	-	-	-			
B.S CS Aut-2023-M-A-0065	Muhammad Faisal Gulzar	83	A	4.0	3	12.0	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-	94	A	4.0	3	12.0	-	-	-	-			
B.S CS Aut-2023-M-B-0110	Muhammad Zain Ul Abideen	80	A	4.0	3	12.0	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	93	A	4.0	3	12.0	-	-	-	-			
B.S CS Aut-2023-M-C-0148	Asad Khan	82	A	4.0	3	12.0	-	-	-	-	71	B	3.0	3	9.0	-	-	-	-	95	A	4.0	3	12.0	-	-	-	-			
B.S CS Aut-2023-M-C-0152	Faizan Ali	86	A	4.0	3	12.0	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-			
B.S CS Aut-2023-M-C-0187	Sohail Ahmed Khan	87	A	4.0	3	12.0	-	-	-	-	81	A	4.0	3	12.0	-	-	-	-	94	A	4.0	3	12.0	-	-	-	-			
B.S CS Aut-21-M-A-0035	Roheen Anjum	77	B+	3.5	3	10.5	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-	93	A	4.0	3	12.0	-	-	-	-			
B.S CS SP-2022-M-A-0054	Zain Habib	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	74	B	3.0	3	9.0	-	-	-	-				
B.S CS SP-2023-M-A-0004	Ali Raza	86	A	4.0	3	12.0	75	B+	3.5	3	10.5	75	B+	3.5	3	10.5	-	-	-	-	70	B	3.0	3	9.0	-	-	-	-		
B.S CS SP-2023-M-A-0033	Muhammad Sharjeel Iqbal (Duplica	84	A	4.0	3	12.0	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	11	F	-	3	-	-	-	-	-			
B.S CS SP-2023-M-A-0037	Muhammad Hamza Shakir	72	B	3.0	3	9.0	-	-	-	-	56	C	2.0	3	6.0	-	-	-	-	27	F	-	3	-	-	-	-	-			
B.S CS SP-2023-M-B-0086	Muhammad Awais	71	B	3.0	3	9.0	-	-	-	-	60	C	2.0	3	6.0	43	F	-	3	-	86	A	4.0	3	12.0	-	-	-	-		
B.S SE Aut-2023-M-C-0129	Aiman Rasheed	75	B+	3.5	3	10.5	-	-	-	-	37	F	-	3	-	-	-	-	-	91	A	4.0	3	12.0	-	-	-	-			
BS CS SP-21-M-A-0036	Taimoor Hassan	63	C	2.0	3	6.0	-	-	-	-	58	C	2.0	3	6.0	-	-	-	-	-	F	-	3	-	-	-	-	-			

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 5th Semester, Section A, Morning, Session Autumn 2025

		GE162					HUM201				
		Functional English					Technical & Business Writing				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2023-M-A-0038	Muhammad Saleh	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0041	Muhammad Waqas Haider	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0044	Naseem Ahmed	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0046	Saba Attique	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0047	Sadeel Muzaffar	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0048	Saliha Arbab (Withheld due to Fee	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0049	Salman Ahmad	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0050	Shafiq Ur Rehman	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0055	Sheikh Abdul Basit	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0060	Syed Hamza Waqar	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0061	Syed Samad Ali Shah	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0062	Talal Abbas Qureshi	65	C+	2.5	3	7.5	-	-	-	-	
B.S CS Aut-2023-M-A-0064	Nilofar Zenum	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-A-0065	Muhammad Faisal Gulzar	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-B-0110	Muhammad Zain Ul Abideen	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-C-0148	Asad Khan	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-C-0152	Faizan Ali	-	-	-	-	-	-	-	-	-	
B.S CS Aut-2023-M-C-0187	Sohail Ahmed Khan	-	-	-	-	-	-	-	-	-	
B.S CS Aut-21-M-A-0035	Roheen Anjum	-	-	-	-	-	-	-	-	-	
B.S CS SP-2022-M-A-0054	Zain Habib	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-A-0004	Ali Raza	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-A-0033	Muhammad Sharjeel Iqbal (Duplica	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-A-0037	Muhammad Hamza Shakir	-	-	-	-	-	-	-	-	-	
B.S CS SP-2023-M-B-0086	Muhammad Awais	-	-	-	-	-	-	-	-	-	
B.S SE Aut-2023-M-C-0129	Aiman Rasheed	-	-	-	-	-	-	-	-	-	
BS CS SP-21-M-A-0036	Taimoor Hassan	-	-	-	-	-	-	-	-	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026